LOWENSTEIN

a1 T E TR

PF/PFRZ%




LOWENSTEIN

%IEH|,PF/PFRR Y

[T 51
» SR E/{EEE
 FEASRE
s RIEWIBED
RV ESS)
o RIRE
o {BEF
 TERE
PFE7%| PFRZ%
T
PF090 ] 003 ] S1 / ok
OhASER: HhiEsm RS
AL ST = Sedh
S2 = i
S3 = DIN 54804444
S4 = Z Vg
EbE(1)
PF(EaT5): 3/4/5/7/10
(WH5):  16/20/25/28/35/40/50/70/100
PFROIE):  12/16/20/25/28/35/40/50/70/100
PFRA(=33): 100,125 /140/175/200/ 250/ 350 /400 /500 /700 /1,000
PFRB(=%5): 48/64/84/100/125/140/175/200/ 250 /280 / 350 / 400 / 500/ 700 / 1,000
PFRIIGES):  1225/1,400 /1,750 / 2,000 / 2,800 / 3,500 / 5,000 / 7,000 / 10,000
PFRCGRHS): 4/5/7/8/10
TR R~ ZF
PF: 060/075/100/140/180/210/ 240 ———
PFR:060 /075 /100 /140 /180 / 210 / 240 (1) RIZEEE(i=Nin/ Now)



LASWENSTEIN

PFZR%I-146E

> :|:
FANAY
TS’Z7K¢—:
3 415 1560 2465 4360
4 100 205 380 765 1415 2190 4035
1 5 85 185 325 660 1225 1905 3505
7 60 135 260 515 980 1530 2630
10 24 55 160 305 700 1070 1810
16 100 205 400 805 1485 2230 4110
20 100 205 400 810 1495 2230 4225
BRI H 5 Ty Nm
25 90 195 345 700 1295 2005 3685
28 60 205 405 820 1510 2230 4425
2 35 75 195 350 705 1310 2030 3725
40 40 96 220 615 1260 2230 4430
50 50 120 275 715 1325 2050 3765
70 60 135 300 585 1095 1670 2675
100 24 55 160 345 660 1005 1700
BRAREI T nor Nm 1,2 3~100 3 {EEEm e
BRANNESFET 28 Nm 1,2 3~100 1.5 (EEiEmE 158
. 1 3~10 0.3 0.6 14 25 5 7 1
TEHIE @ Nm
2 16~100 0.2 0.3 0.5 1.2 1.7 3 4
. 1 3~10 <2 <1 <1 <1 <1 <1 <1
EFEER © arcmin
2 16~100 <3 <2 <2 <2 <2 <2 <2
HHEERIE Nm/arcmin 1,2 3~100 46 10 30 55 175 400 550
1 3~10 5000 3600 3600 3000 2700 2400 2100
BUEMNEEEN mm
2 16~100 5000 4600 4600 4000 3700 3400 3100
1 3~10 7000 6000 6000 5000 4500 4000 3500
BARINZIEN: 5 rpm
2 16~100 7000 7000 7000 6000 5500 5000 4500
BFRERANF, @ N 1,2 3~100 3000 4500 6700 10000 15000 22000 30000
BB R, @ Nm 1,2 3~100 1500 2250 3350 5000 7500 11000 15000
FIEFHMRREM,, @ Nm 1,2 3~100 160 270 550 1050 1740 3350 5420
fEFES © hr 1,2 3~100 20000
ERRE °C 1,2 3~100 -10°C~ 90°C
PHPER 1,2 3~100 P65
e 1,2 3~100 BB
ZHETM 1,2 3~100 F=AR
1 3~10 <58 <59 < 64 <65 < 66 < 68 <70
IFEEO dB(A)
2 16~100 <58 <59 <60 <63 < 66 < 68 <70
. 1 310 > 97%
ME N %
2 16~100 > 94%

(1) IRIREL(i=Nin /Nouy)

(2) BB 10EL(—T3) 8100(Z 1) RURGEML, TE3000RPMIEE FLAERIER FUETS.

(3) EIFZEIBREE2%HIBRERI 5T, TS

(4) a1 00rpmiy, EFEFHamLEPO

(5) dB{BERHBAEIS10(—T5) 51 00(:17) AURIEM, E3000RPMEHERIATHRMREINEE TR REIER MUETS.
BRI/ SREHIRPM, IR/ K Al gERE3E5dB,



LOWENSTEIN

PFR -4

i

5

8 _ 0.1 _ _ _ _
1 021 | 016 - 0.17 - - - - - - - - - -
14 024 = 02 | g5q 021 ) 042 . . ) . ) ) ] )
19 064 . 079 06 | 51 | 066 18 ) ] ] ) )
24 _ _ 4.06 _ 4.78 3.94 6.85 411 : 4.61 _ _ _ _
28 _ _ _ _ 6.15 _ 838 5.48 ; 6.14 _ _ _ _
32 | kg ) . ) 803 ~ 1041 736 g5 | 817 . 1055 . .
35 . ) . . 1472 . 1556 1404 | 571 | 1554 | 396 | 1775 | 8648 0
38 ) ] ) o 38| L 043 671 5o 11 | 1819 | 4243 | 2017 | 8648 @ 2366
) . ) . . ) _ 44 | 3,35 2320 4765 254 9261 2888
48 - - B B ) ) 54, 66 B ca 13 | 5242 | 7741 5518 12226 5864
55 ] : 111.26 : 156.7 | 9D48
60 _ _ _ _ _ _ _ _ B _ _ _ 180.17 -
+F2a -F2a
~___ —
X[ X g
L Far
| —
Z2 X
; Fo* Y+ Fy, * (X+22) M2K © (Nm)
BFMEANEM,, = e F2a, F2r: (N)
X, Y,Z2: (mm)

I T ™ N ™ N R " R
727

72 (mm) M3 50.1 58.9 937 985 122
%R 00rpmidt, (FRRTMtHEPOE



LOWENSTEIN

PFRH-RYT

[m K] e Rimark (1)
E02{x) | Lz L3 L7
L
N
@
—
é IS IS SN NN . S——— -
L "l
L4 _‘\‘_____‘_.
= L0 L2
-l 17 e
Data 7 [ e s Ls 11;
L NpaE 7 L@ _Z@_ S I s s = F{ ) ..
NI © glsl_L
- L8 A 1L I - I | o, L1g '1 ."1
03 e L z B03 ns L0
. L2z —
et 51 et 52 MR 53 §hEIzT sS4
D1 68 85 120 165 215 250 290
D2 5.5 7 9 11 13.5 17 17
D3 H6 16 22 32 40 55 75 85
D4 G6 60 70 90 130 160 180 200
D5 18.5 25.8 36.8 55.2 69.2 82.2 92.2
D6 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P M20x2.5P
D10 H8 16 22 32 40 55 75 85
D7 H6 15 20 30 40 55 = =
D9 18 24 36 50 68 - -
L1 62 76 101 141 182 215 245
L2 28 36 58 82 82 105 130
L3 20 20 30 30 30 38 40
L4 2 2.5 3 3 3 3 3
L5 25 32 50 63 70 90 125
L6 2 2 4 5 6 7 3
L7 6 7 10 12 15 17 22
L9 48 7.2 10 12 15 15 15
L10 125 19 28 36 42 42 42
L17 26 26 26 40 415 52 60
L18 15 15 15 20 21.5 28 36
L19 21 22.5 23 335 335 45 53
L20 12 14 18 22 23 - -
L21 22 22 32 33 32 - -
L22 19 21 25 30 30 - -
L23 2 2.5 2.5 2.5 2.5 2.5 4
L24 03 04 04 04 04 04 0.5
B1 H9 5 6 10 12 16 20 22
H1 18 24.5 35 43 59 79.5 920

XDIN5480 | W16x08x30x18x6m | W22x1.25x30x16x6m | W32x1.25x30x24x6m | WA0x2x30x18x6m | W55x2x30x26x6m | W70x2x30x34x6m | W80x2x30x38x6m

() RYEEENEEX.



LOWENSTEIN

I 4aE &2

H2

" FE@HEEE Ra=3.2um

A
B 2%
o = | ~ = 30 H6 / j6
g g {--H-H s
= > 30~50 H6 / h6
> 50 ~ 80 H6 / g6
L0 H
B

W [ 2
R L
060 18.5 5x M5 SSD-18
075 50 24 36 19.5 23 6x M5 4 0.8 SSD-24
100 72 36 52 235 275 5x M6 12 39 SSD-36
140 90 50 70 275 31.5 8xM6 12 11.2 SSD-50
180 115 68 86 30.5 34.5 10xM6 12 30.9 SSD-68

(1) 38E10.94%, DIN931 (2) B

PFRESVimIE 5513

() (1))
i~ Rl | kg
PFR "~ PFRA

$ @ 4 =%

(n (v)

B o | B

_ PFRB PFR
B - ] PO



LOWENSTEIN

PFR&RZ (W19) -HERE

AR
12 100 200 400 805 1495 1680 3280
16 100 225 405 815 1510 1680 3280
20 100 230 405 820 1520 1780 3710
25 95 195 350 710 1320 1775 3735
e 28 92 200 400 800 1535 1560 3000

AR E T Nm 2 35 95 200 355 715 1330 1950 3750
40 72 160 340 680 1440 1440 2400
50 90 200 360 725 1345 1800 3000
70 60 130 250 440 990 1510 2550
100 24 57 160 350 655 1005 1685

BRASUENHETnor Nm 2 12~100 2fEEERE H TN

BRANESFET 28 Nm 2 12~100 1.5(EEUER H a2y

5 @ Nm 2 12~100 1 13 2 31 6 13 16

EFEER © arcmin 2 12~100 <3 <2 <2 <2 <2 <2 <2

THEERIME Nm/arcmin 2 12~100 46 10 30 55 175 300 510

HRERMAFEEN rpm 2 12~100 3000 3000 2800 2700 2200 2100 2000

RABINEEEN 5 rpm 2 12~100 6000 6000 6000 4500 4500 4000 3000

BUFRIEAF, @ N 2 12~100 3000 4500 6700 10000 15000 22000 30000

BUFHIESIF,, @ Nm 2 12~100 1500 2250 3350 5000 7500 11000 15000

BRI IEM @ Nm 2 12~100 160 270 550 1050 1740 3350 5420

ERES © hr 2 12~100 20000

(EFERE °C 2 12~100 -10°C~+90°C

FtreEeR 2 12~100 IP65

g 2 12~100 ERiiEiERE

TEFH 2 12~100 FEAE

IREE O dB(A) 2 12~100 <64 <66 <68 <68 <70 <70 <72

HEn % 2 12~100 > 94%

(1) IIREL(1=Nin /Nouy)

(2) B2 10EL(—5) 8100(—3) RUREGENL, 7E3000RPMIEE R ABANER FUEThE.

(3) EFEEREE2% ISR H 5T, FUE

(4) FEHHEEE100rpmiy, {ERTFEIHHSAC

(5) dB{ERHERATLS 10 (—3) 3100(=F5) AURIENL, 7E3000RPMEHERAVFIRENEE TSNS R TUETE,
BB R =R/ SARERIRPM, IRk RTAES=3ZE5dB,

Iﬁ‘%
8BS
p PFR0O60 PFRO75 PFR100 PFR140 PFR180 PFR210 PFR240
R ANHERE(C3)
8 0.1 - - - - - -

1 0.16 0.17 - - - ; )
14 02 037 041 i i i i
19 _ 06 1.61 161 i i i
24 i _ 39 4.01 5.62 _ -
28 . . . 553 5.62 i i
kg -cm?
32 - . . 7.57 8.11 811 i
35 _ _ _ 1495 15.32 15.32 15.68
38 _ . _ 17.58 17.72 17.72 18.52
42 i . . . 2295 2295 23.74
48 _ . . _ 52.74 52.74 53.49
55 - - - - - - 87.34



LOWENSTEIN

PFREFI(NTS, RpEE12~100) -RY

oL

Li2 E] 202141
| L4
r !
N I 4: _______ _§ é -
~ !
i i
| | 2
:"-‘:"i Hc:narklll E
a E i i L i
- ___.___I___n__1 La-lr K —
23 Pt 2 ' L5 L6 B, LB | '
. | [ | .
7 ! T ! - T . 2] 2
= o = ol ENe U
rJ/ L g L8 ! _Lip
Z Lio B3 L1 B03 o -
A 51 R 52 SIS 53 T 2R samust sa
D1 68 85 120 165 215 250 290
D2 5.5 7 9 1 135 17 17
D3 hé 16 22 32 40 55 75 85
D4 g6 60 70 90 130 160 180 200
D5 185 25.8 36.8 55.2 69.2 82.2 922
D6 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P M20x2.5P
D7 hé 16 22 32 40 55 75 85
D8 73 94 116 163 210 210 255
D9 H6 15 20 30 40 55 B, .
D10 h8 18 24 36 50 68 - -
L1 62 76 101 141 182 215 245
L2 28 36 58 82 82 105 130
L3 20 20 30 30 30 38 40
L4 2 25 3 3 3 3 3
L5 25 32 50 63 70 90 125
L6 2 2 4 5 6 7 3
L7 6 7 10 12 15 17 2
L8 10 13 17 25 31 31 36
L9 48 7.2 10 12 15 15 15
L10 125 19 28 36 42 42 42
L11 1185 135.5 152.5 191 248 270 336
L12 445 53 68.3 89 115 15 131
L13 211 2445 308.8 392 475 528 637
L16 94 1145 129 1735 228 228 265.5
L17 26 26 26 40 415 52 60
L18 15 15 15 20 215 28 36
L19 21 22.5 23 335 335 45 53
120 12 14 18 22 23 ; i
L21 22 22 32 33 32 . -
122 19 21 25 30 30 - -
L23 2 25 25 2.5 25 25 4
24 0.3 04 04 04 0.4 04 0.5
B1 h9 5 6 10 12 16 20 22
H1 18 24.5 35 43 59 79.5 90

XDIN5480 |W16x0.8x30x18x6mW22x1.25x30x16x6mW32x1.25x30x24x6m W40x2x30x18x6m | W55x2x30x26x6m | W70x2x30x34x6m | W80x2x30x38x6m

(1) RYEEENEEX.



LASWENSTEIN

PFRARSI(=T5) -1£88

RARRFR

100 3800

125 3900

140 3910

175 3930

200 3945
Bt A Ton Nm 3

250 3970

350 4000

500 4035

700 3090

1000 1770
BASEFEanor Nm 3 100~1000 2{ERERIH IR oy
BRAINESFET Nm 3 100~1000 1.5(E8ER H T
TS @ Nm 3 100~1000 6
EFEER © arcmin 3 100~1000 <2
THEERIME Nm/arcmin 3 100~1000 510
EUEMANEEN N rom 3 100~1000 2100
BARINFRIEN: rpm 3 100~1000 4000
BIFEMAAF, @ N 3 100~1000 30000
BFFHRAF,, @ N 3 100~1000 15000
FFUETEM @ Nm 3 100~1000 5420
A& © hr 3 100~1000 20000
FRIRE °C 3 100~1000 -10°C~+90°C
Vafine=d 3 100~1000 1P65
pEh] 3 100~1000 B RkIEE S
RIS 3 100~1000 (ES=vslL
IREE O dB(A) 3 100~1000 <72
B N % 3 100~1000 > 92%

(1) BaEREL(i=Nin /Now)

(2) HAERA1000LL(=75) RUIRIEYL, 7E3000RPMEE FCAEHMIER MUEE,

(3) [EFEEPREAE 2 %IRRT T, FUE

(4) Ht¥&iE100rpmBY, {EFRTFAILHHFC

(5) dBERHKRAELIS1000LL(=5) HIRIENL, E3000RPMEIERIAHRRBNIERE FEREER FUETS.
WAL A/ BET=RIRPM,  IRF KRl eam3E5dB,

=
1RE
me
D PFRA240
S NHER(C3)

32 8.11
35 15.32
38 kg -cm? 17.72
42 22.95
48 52.74



PFRAZ%I(

10

b

.,

L13

iEH1100~1000)-R

@ana

L6

B1

L2

Remark {1}

=

3

Dedal Z

D1
D2

D3 h6
D4 g6

D5
D6

D7 hé

D8
L1
L2
L3
L4
L5
L6
L7
L8
L9
L10
L11
L12
L13
L16
L17
L18
L19
L23
L24

h9

H1

X DIN5480
() RIEEENEEX.

-

=

Zj

La L

L10 B0 1

A S1

0oL

LOWENSTEIN

A02[4x}

us 5
________ _% é
L5 L& B1
]
1
== -
G
La
L1a B0 g
MBI 52

PFRA240

92.2
M20x2.5P

W80x2x30x38x6m

290
17
85

200

85
210
245
130
40
3
125

22
31
15
42
378
115
663
228
60
36
53
4
0.5
22
90




PFRBRZI(=15) -18E

AR

=
"5

EUERHAIRE T

BASUEIET nor
BRANESFET 28
SEE @
[EFEERR ©
HEERIME
EERNFLEN
BARINZIEN: 5
BIFREAF, @
BIFHEAIF,, @
BIFUIRAFEM, @
& ©
FERRE

ag7ak=7d

g

LTI

REE O

HEn

(1) })ﬁz]‘itb“: Nin /Nout)

(2) I{ERH1000L(=

arcmin
Nm/arcmin
rpm

rpm

dB(A)
%

LASWENSTEIN

PFRBO75 PFRB100 PFRB140 PFRB180 PFRB210 PFRB240

w w w w w w w w w w wwwwwww

(3) [EFRESERTE2%HITE R HIFET,, PG
(4) g1 00rpmAy, {ERTF O

(5) dBIERHEAELS1000L(=
BB ERATLLE=FN/ SRS HIRPM,

fr--a=1%
REE

ﬂiau)\EEEE ()

8
1
14
19
24
28
32
35
38
42
48

kg -cm?

0.17

0.17
0.21

]
=3

64
84
100
125
140
175
200
250
280
350
400
500
700
1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000
48~1000

Z=5dB,

042
0.42

0.66

205
200
205
200
205
205
205
205
200
210
160
200
135
55

0.2

10
5500
7000
4500
2250

270

415
420
420
365
425
365
430
370
400
375
340
380
325
160

0.2

30
4600
7000
6700
3350

550

T5) HURIEYL, 7E3000RPMIERE FEAEAIIER TUETE.

1.83
1.83

4.11

840 1545
845 1555
845 1565
730 1355
845 1580
740 1370
845 1590
745 1380
800 1560
755 1395
680 1440
760 1405
670 1240
380 660
(EENER 5B Ton
1.5(EENERI I Ton
03 04
<2
55 175
4600 4000
7000 6000
10000 15000
5000 7500
1050 1740
20.000
-10°C~+90°C
1P65
BB
FEAm
< 68 <70
> 92%

) mun £3000RPMEGER ATRARII N B T o caEkagtEi MRS,
IR KR

PFRBO75 PFRB100 PFRB140 PFRB180 PFRB210 PFRB240

4.61
4.61
6.14
8.17
15.56
18.19

4.61
6.14
817
15.56
18.19
232
52.42

1680
1680
2085
2095
1750
2115
1780
2135
1560
1950
1440
1800
1875
1065

300
3700
5500
22000
11000
3350

3280
3280
3830
3850
3860
3885
3900
3920
3000
3750
2400
3000
3005
1725

12

510
3400
5000
30000
15000
5420

11



LOWENSTEIN

PFRBREFI(=T, HiEH148~1000) -RT

Ln L3 L2
LT L4
—
8 2
1 18 &
. =
F e
Rn;'a"k i1
L2 L2
LT ) =
Bi. Lig
j——
[ . E ] ﬁ“
:_\t 5 $ b —FH- = g 'S § g
Z"’ - e -
F Li0 3 Lio [ e
LU | M 52 SEIE 53 - L2 | sglist 54
D1 85 120 165 215 250 290
D2 7 9 11 135 17 17
D3 hé 22 32 40 55 75 85
D4 g6 70 90 130 160 180 200
D5 258 36.8 55.2 69.2 82.2 922
D6 M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P M20x2.5P
D7 hé 22 32 40 55 75 85
D8 94 116 163 210 210 255
D9 H6 20 30 40 55 i .
D10 h8 24 36 50 68 i .
L1 76 101 14 182 215 245
L2 36 58 82 82 105 130
L3 20 30 30 30 38 40
L4 25 3 3 3 3 3
L5 32 50 63 70 90 125
L6 2 4 5 6 7 3
L7 7 10 12 15 17 2
L8 13 17 25 31 31 36
L9 72 10 12 15 15 15
L10 19 28 36 2 2 2
L11 1355 152.5 191 248 270 336
L12 53 68.3 89 115 115 131
L13 244.5 308.8 392 475 528 637
L16 1145 129 1735 228 228 265.5
L17 26 26 40 415 52 60
L18 15 15 20 215 28 36
L19 225 23 335 335 45 53
L20 14 18 22 23 i .
L21 2 32 33 32 _ .
L22 21 25 30 30 i .
123 25 25 25 25 25 4
124 04 04 04 0.4 04 05
B1 h9 6 10 12 16 20 2
H1 245 35 43 59 79.5 90

XDIN5480 | W22x1.25x30x16x6m | W32x1.25x30x24x6m | WA0x2x30x18x6m | W55x2x30x26x6m | W70x2x30x34x6m | W80x2x30x38x6m
(1) RISEBENEEX, HEERIESLowensteinkas

12



LASWENSTEIN

PFRRZI(P95) -tERE

RAER
1225 4070
1400 4085
1750 4100
2000 4120
HEEH %8 T Nm 4 2800 3185
3500 4180
5000 4285
7000 3445
10000 2240
BARRMEHE T nor Nm 4 1225~10000 AEEERH B Ton
BANNE T Nm 4 1225~10000 1.5EEUERH I Ton
=HIHE e Nm 4 1225~10000 04
[EF2/ERs arcmin 4 1225~10000 <2
TREERIE Nm/arcmin 4 1225~10000 510
BERNEEEN N rpm 4 1225~10000 3700
BRARUINEEEN 5 rpm 4 1225~10000 5500
BUFHRENF, @ N 4 1225~10000 30000
B IF,, @ N 4 1225~10000 15000
BFHUTREM @ Nm 4 1225~10000 5420
S © hr 4 1225~10000 20000
FRRE °C 4 1225~10000 -10°C~+90°C
iR 4 1225~10000 IP65
pEh] 4 1225~10000 AR HEE
RETIA 4 1225~10000 FEAE
IFEEO dB(A) 4 1225~10000 <72
BEN % 4 1225~10000 > 90%

(1) FEE@H.’.(I =Nin/Nout)
(2) EFEEMREE2 %R EER H T, FUE
(3) HUREELREART, LA3000%% = 10000 (P9T5) iREEEUES

(4) REWEE LR
1RE
e
PFR240

24 4.61

28 6.14

32 kg -cm? 8.17

35 15.56

38 18.19

13



LOWENSTEIN

PFRREZ(IYT5, miEH1225~10000) -RT

LiZ L2
L4
-
§ N i ‘_“.ﬂ
N R S8
ol LN+
E Hn;ru'k [RF] !
L...lil.©] ]
L17
LE L& Bl L18
N | Tl | .
rJ La IL‘;I: L ' -L19
n Lim 203 LiD B0 - - -
a5 Yt 52 8=t 53
R PFR240
D2 17
D3 hé 85
D4 g6 200
D5 922
D6 M20x2.5P
D7 hé 85
D8 210
1 245
2 130
3 40
L4 3
L5 125
L6 3
L7 22
L8 31
L9 15
L10 42
L11 378
L12 115
113 663
L16 228
L17 60
L18 36
L19 53
L23 4
24 0.5
B1 h9 22
H1 90
X DIN5480 W80x2x30x38x6m

(1) RYEEENERX.

14



LASWENSTEIN

PFRCZKZI-1£88

PR
N e e e
2240 4160
5 85 185 330 670 1250 1930 3610
EREsIE 5 Ton Nm 2 7 60 135 260 525 1000 1750 2535
8 9% 205 395 800 1320 2300 4260
10 90 165 340 690 1290 2000 3700
BARMEIFE Tanor Nm 2 4~10 2SR I A Ton
BANNES T Nm 2 4~10 1.5(EEERE 5 Ton
Z=HIHE @ Nm 2 4~10 2 25 58 12 25 48 95
[EFEIEE © arcmin 2 4~10 <3 <2 <2 <2 <2 <2 <2
LRI Nm/arcmin | 2 4~10 46 10 30 55 175 300 510
EUERNEEEN rpm 2 4~10 5000 3600 3000 2300 1800 1500 1100
BRBNEEEN 5 rpm 2 4~10 7000 6000 5500 4500 3500 3000 2200
BIFREAF, @ N 2 4~10 3000 4500 6700 10000 15000 22000 30000
BYFHIMIIF,, @ N 2 4~10 1500 2250 3350 5000 7500 11000 15000
BRI IEM Nm 2 4~10 160 270 550 1050 1740 3350 5420
SR © hr 2 4~10 20000
(EFERE °C 2 4~10 -10°C~+90°C
FRER 2 4~10 IP65
jEh= 2 4~10 BRERE
RETTH 2 4~10 EEAE
IREE © dB(A) 2 4~10 < 68 <68 <68 <70 <70 <72 <74
HEN % 2 4~10 > 95%
(1) JRAEREL (1= Nin /Nout)
(2) I{ER R 1000LM(=75) RURIEYL, 7E3000RPMEE FCAEMIER TUETS,
(3) [EFEEPREAE2%HIBERH AT, FUS
(4) HEEE100rpmAT, EFBFads 0
(5) dB{E%EEﬁjcé‘é% 000LK(=3) E’J}FJZEM #£3000RPMEHER ARG NIEE T EaIER FUETS.
BT RYRAILLERAN/BEREHIRPM, IR /KEaJRESE3ZE5dB,
1RE
;;u='
11 0.16 0.41 . - - - .
14 0.20 0.41 - - - - .
19 0.58 1.61 1.61 - - - .
24 - 39 401 5.62 - - .
28 - - 5.53 5.62 - - .
32 kg -crr? - - 7.57 8.1 8.1 - -
35 - . 14.95 15.32 15.32 15.68 19.37
38 . - 17.58 17.72 1772 18.52 19.37
42 . . . 2295 2295 23.74 255
48 . . . 52.74 52.74 53.49 55.14
55 . . . . . 87.34 89.59
60 . . _ _ _ . 113.06

15



PFRCEA(miELL4~10) -RT

E

o Detail

PFRC060
D1 68 85

D2
D3 h6
D4 g6

D5

D6
D7 hé

D8
D9 H6
D10 h8

L1

L2

L3

L4

L5

L6

L7

L9

L10

L11

L12

L13

L16

L17

L18

L19

L20

L21

L22

L23

L24
B1 h9

H1

L1G

Li3

L1

L3

Lz

pra

LS

Lin

B3 s

55
16
60
18.5
M5x0.8P
16
64
15
18
62
28
20
2
25
2
6
48
125
121.5
46.5
216
81.5
26
15
21
12
22
19
2
0.3
5
18

WA S1

M8x1.25P

7/
22
70

25.8

22
92
20
24
76
36
20
25
32
2
7
7.2
19
1455
61.5
263
113.5
26
15
22.5
14
22
21
2.5
04
6
24.5

L4

[

XDIN5480 | W16x0.8x30x18x6m | W22x1.25x30x16x 6m | W32x1.25x30x24x6m | WA0x230x18x6m | W55x2x30x26x6m
() RYEEZENEEX.

16

LOWENSTEIN

1 e E
¥ — - 3 hE ] % 8
& (@)
Le L
Lo D3
WL 52 WA S3 WAzt 4
120 165 215 250 290
9 11 13.5 17 17
32 40 55 75 85
90 130 160 180 200
36.8 55.2 69.2 82.2 92.2
M12x1.75P M16x2P M20x2.5P M20x2.5P M20x2.5P
32 40 55 75 85
116 156 156 195 240
30 40 55 - -
36 50 68 - -
101 141 182 215 245
58 82 82 105 130
30 30 30 38 40
3 3 3 3 3
50 63 70 90 125
4 5 6 7 3
10 12 15 17 22
10 12 15 15 15
28 36 42 42 42
163 219 258 2775 352
76 97.5 97.5 105.5 141
327 4285 467.5 526 663
147.5 196.5 196.5 229 260
26 40 415 52 60
15 20 21.5 28 36
23 335 335 45 53
18 22 23 - -
32 33 32 = =
25 30 30 - -
2.5 2.5 2.5 2.5 4
04 04 04 04 0.5
10 12 16 20 22
35 43 59 79.5 90
W70x2x30x34x6m | W80x2x30x38x6m



